/ 11.1N - Exponents Review and Solving by Changing Base
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C. Same base m
e Inthe expression,5’: 5isthe .ba_sﬁ__ and 2 is the +
e If the bases of both sides of an exponential equation are the same:
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the exponents are equal:
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D. Steps to Solve by changing the base

125 Given

l EHFII'ESS the denominator of the llght side with a base
53’; — of 5. We have 125 = 53,
i

S.
Apply the Negative Exponent Property.
) e@"ﬂﬁk At this point, the bases are the same.
T - 55"" Set the exponents equal to each other.
© e -
=-3 Solve for x.
Ax _=3
3 To solve x, divide both sides by 3. That's it
X=-]
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